
4en an intege 
a�ions 
. 2n is odd, print weisd 

. fn is even and in he inclusive 
nd coeiyd 

. L 

Assgmot-i 

n is even vd in the inclusive ange of Gto 20, 
print weiyd 

det weivdOYnot- weiyd (n): 
t n2! =0: 

else: 

n pefomn the folluoing conditional 

nis even and qeáter than 20, print Not weird 

prin t('weírd') 

i! n in arge (2, 6): n 

print ('Not weivd) 

else: 

elt n in Tange (6, 1) : 
print(oeívd ) 
print (Not wehvd ) 

Qulput: 

K. SAINATH 

weird. oY-not, weird (s) 
weivd- or_ not- weiyd (24) 

weiyd 

Not weiyad 

of to 5, print 



2. iven thu particípnt store 

Uvenily spot Day. cu dre 

n 

Vunner- 2 SloYe You dTe 
in a list and find %, coxe of the 7Unner-up 

det hndunner- up-score slores); 

Tetun Tunner- up-scote 

Soled-sores = Soted scores, neverse eTrue) 

ou i in ange (n): 

the 

TuUnner-Up-score e Sorled-sores [1] 

int(input ('iter the number of sores :) Slores = [) 

given 

Output: 

sheet ty your 
vguind to Hind le 

Store int (input (nter the sCorei) Slores. dppend (score) 

n slores. Store them 

Junner-up-score tind- qunner p-store (scoxes) 

Enter 

prntThe vunner-up sore is: Tunner- up-score) 
Fnta ttu number tsores:5 Enter the score i 2 
Entey te sto 

Enle-the score: 6 
Entet the slore 4 

lhe unher- up SCOre is : 5 

Slore 3 
Enter thu scoYe : 5 
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